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2006 2007
T B 2004 | 2005 | 2006
109 | 1199 | 1299 | 19 | 299 | 390 | 49 | 590 | 6] | 790 | 89 | 99
n= 36 1 31 | 29 | < 21 - | = |06 | - | < | 38| - | < |39 -
A A F = 31 2.8 27 « 15 — <~ | 39 — «— | 34 | —
GDP | ct2dlEr} | 9.0 9.2 8.5 — 8.6 — — | 80 | — — | 87 | —
=718 =2 e A | 57 | 29 | 37 - 48 - « | 43 | > | <« | 54| —
(%) =) Ell 6.0 5.7 4.0 - 43 — - 5.8 — - 6.1 N
9 Al = ) 78 4.8 - 43 — - 2.6 — - 2.8 —
e 27 | 34 | 32 | -05 0.0 04 | 02 | 04 | 06| 04|07 ] 02]01]-01]03
2Nz | A 19 | 22 | 20 | -02 0.2 02 | 00 | 07 | 08 | 05 | 04 | 02| 01 | -03 | 02
E7} | olzdlEy} | 61 | 123 | 9.8 0.9 0.7 10 | 11 | 03 | 08 | 07 | 04 | 04 | 05 | 06 | 08
Aza’ v e A% | 61 | 51 | 28 04 04 06 | 05 | 04 | 04 | 03 | 03| 03| 06| 06| 03
%) | & @ | 11 | 31 | 34 | 03 | 02 01 | 03 | 02|04 |06 |06 ]| 09|11 |11 | 11
o Al = | 52 | 33 | 40 04 05 06 | 05| 03 | 02 |-01|05]| 01| 04| 04| 08
e 807.5 | 894.6 [1,023.1 | 882 | 888 | 895 | 905 | 886 | 91.1 | 90.9 | 934 | 95.0 | 98.6 | 99.0
e Avkch | 329.6 | 3729 | 401.8 | 329 | 342 | 350 | 338 | 33.7 | 349 | 356 | 363 | 364 | 37.3 | 375
(Tﬁ; olzglEL} | 346 | 404 | 465 | 42 41 42 | 34 | 35 | 41 | 43 | 48 | 45 | 46 | 50 | 48
) B g A | 965 | 1183 | 1378 | 127 | 119 | 122 | 11.0 | 101 | 129 | 124 | 13.6 | 131 | 141 | 151 | 142
2 F | 325 | 413 | 581 | 46 47 43 | 60 | 48 | 58 | 59 | 68 | 53 | 62 | 52 | 52
o] Al = | 188.0 | 2142 | 2500 | 227 | 215 | 202 | 19.0 | 196 | 217 | 21.1 | 238 | 228 | 226 | 245 | 23.1
= |1,477.1 |1,6818 |1,861.4 | 153.7 | 155.0 | 158.1 | 155.1 | 154.0 | 161.8 | 1583 | 1619 | 163.3 | 166.4 | 165.5
- g Avkch | 2791 | 3205 | 356.6 | 295 | 301 | 307 | 296 | 29.6 | 305 | 304 | 309 | 323 | 341 | 335
(Tﬁ o olzalE} | 224 | 287 | 342 | 33 32 28 | 30 | 28 | 34 | 31 | 35 | 36 | 41 | 46 | 40
) B g A | 628 | 736 | 914 | 87 8.7 72 | 85 | 72 | 95 | 82 | 98 | 93 | 108 | 116 | 107

= el 229 | 305 | 359 33 32 3.0 3.0 29 35 3.3 3.7 35 37 41 3.6
W Al = | 1968 | 221.8 | 256.1 | 239 231 213 | 207 | 200 | 221 | 219 | 247 | 236 | 234 | 256 | 23.8

mz | -6402 | 7548 | 8115

1

-187.9 — < 11971 | — < [-1908 | —
72} Aok 223 23.1 20.8 «— 26 — «— 52 — «— 7.6 —
22 | elmslEt | 33 5.4 8.1 - 26 — — |08 | - | « | 22| &>
Wl | 2 a4 | 117 | 140 | 137 «— 34 — - |17 | > | « | 27 | -
ge) | A 2.1 13 | 53 - 0.6 — - |33 | = | « | 31| —
g Al = 6.7 49 4 P 2.0 — P 2.7 — - -1.1 —

B 871 | 647 | 661 | 663 | 665 | 661 | 649 | 653 | 664 | 669 | 658 | 659 | 671 | 674 | 69.0

9] 3k et 341 | 33.0 | 351 35.6 36.5 351 | 359 | 363 | 393 | 402 | 40.1 | 394 | 403 | 403 | 41.0
Hea | elz2dEg | 196 | 281 | 320 291 30.3 320 | 337 | 349 | 368 | 38.6 | 40.6 | 432 | 442 | 432 | 429
A4 B g 4 529 | 53.8 | 8538 782 83.1 85.8 | 91.1 | 101.1 |109.5 | 121.8 | 1364 | 147.1 | 155.9 | 161.1 | 163.0
=) =) El 16.0 | 17.0 | 194 17.5 17.1 194 | 173 | 162 | 154 | 175 | 17.0 | 179 | 18.6 | 158 | 16.3
Al = 615 | 687 | 67.7 68.7 69.5 67.7 | 678 | 69.0 | 692 | 695 | 695 | 699 | 711 | 711 | 73.2

] =2 12438 | 1.2449 | 12563 | 1.2617 | 1.2888 | 1.3205 |1.2993 |1.3080 |1.3246 |1.3513 |1.3518 |1.3421 |1.3726 |1.3626 |1.3910
4 & FA=a=s 13017 | 1.2115 | 1.1340 | 1.1285 | 1.1359 | 1.1532 11763 |1.1710 |1.1682 |1.1350 |1.0951 |1.0651 |1.0502 |1.0579 |1.0267
A= |elzdg?| 297 203 | 3.06 3.09 3.07 306 | 311 | 310 | 310 | 3.09 | 308 | 3.09 | 312 | 315 | 314
| B g A% | 265 234 | 214 214 217 213 | 212 | 211 | 205 | 203 | 193 | 193 | 188 | 196 | 183
/us$) | = oY | 559.83 | 51421 | 53443 | 52599 | 529.29 | 534.43 |545.18 |53842 |539.37 |527.08 |527.52 |52746 |523.08 |524.63 |511.71
2 Al =¥ | 11264 | 10777 | 10.881 | 10709 | 11.045 | 10.861 |11.085 |11.079 |11.081 [10931 |10787 |10.866 |10.997 |11.106 |10.924
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